0001721728728999

(20O BHNIZXE O6—0—>

2010 4 #R 55 1 [

1 o [ ] #lsic iz,

(D 2?2 —2+zy+br+y+62RENMTIL [ | 245,

(2) Vil EIER L LEFE20MRH D, HLEERADL LD 3 AREITD L E, ZD3ARDEMIL>THE
N3 =MBOEME [ ]| THa.

(3) 20D FEAZ Mgk a = (3, —1), b =(0, 2) ¥ F5. s, (As+1=3 (0<s<3) kardrs,
KON Vsa +1b OREIORAMEE [ ], BMER [ Ths.

(4) y=sinx+4sinzcosz+3cos?z % sin2z & cos2x DR THET & y = [ J&AY, 0sxsmi
B2y OEOFEIE [ | TH.

(5) HBKTE 1 KT 0% I T 2 Mnhs. oBELIR Ly [ ] KhhiE, okTA
9% LA EEMTTE 5. 2720, logp2=0.3010 9 5%.

(£

(6) Sp=—"1

=

orx, $=[ ] Thy, lim =[] THs.




